1. Match the most suitable modal verb to the sentence.

A. Gabriel tie his own shoelaces
now.

B. | be able to go to the party.

C. There be a fire drill at T1Tam

should
sharp.

Al to buy a present for my

mum'’s birthday. should

B. I be able to go on the school

trip. B

C. My brother go to university in

Liverpool or York. need

2. Which modal ~verh completes each sentence?

ought may used

A. On Saturdays, | to go to ballet lessons but now | go to netball practise
instead.

B. We to use the school field to play football on at break time but it is too
muddy now.

C. Before we moved to London, we to live with my grandparents in
Manchester.

3. Write three sentences of syour won using o modal verh in each.
Use .a different one to those wsed .already .on this sheet.







